In case of reflection it is well known that when a mirror 1.
turmed through an angle the reflected ray tums through:

(1) Same angle

(2) Twice the angle

(3) Thrice the angle

(4) Half the angle

The first battie of Tarain was fought between: 2.

(1) Mohammad Ghori and Prithvi Raj Chauhan
(2) Akbar and Hemu

(3) Mahmud of Ghazni and Prithvi Raj Chauhan
(4) Akbar and Rana Pratap

Shigmo is one of the prominent festival of the: 3
(1) Tamil Community

(2) Santhali Community

(3) Konkani Hindu Community

(4) Muslim Community

The tide produced in an ocean when the pull on the 4.
Earth by the Sun and Moon is unidirectional is called:

(1) High tide

(2) Spnng tide

(3) Neap thde

(4) Low tide

ASSERTION (A):- The President is a part of Parfiament. 5.

REASON (R):- A bill passed by two Houses of
Parliament cannot become law without the assent of
the President.

(1) Both A and R are true and R is comect explanation of A

(2) Both A and R are true but R is not correct explanation
of A

(3) Aistrue but R s false

(4) Ais false but R is true

Remote Sensing Satellite Yaogan-23 was launched by? 6.
(1) France
(2) South Korea

(3) Japan
(4) China

A shift register is a: T.
(1) Random-access memory

(2) Sequentially accessed memory *

(3) Read-only memory

(4) Content-addressable memory

What is the extension used for batch files: 8.

(1) .obj
(2) dat
(3) .bas
(4) .bat
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(1) .oty
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10.

1"

12,

13.

Which of the following commands is given to reboot 9.

the computer?

(1) Ctrl + Alt + Del
(2) Ctrl + Alt + Tab
(3) Ctrl + Shift + Del
(4) Ctrl + Alt + shift

Fill the correct number at the sign of interrogation?

(1) 70
(3 56

(2) 68
4) 92

10.

Youngest In the world who set a world record by 11.

ing in 1°C t
(1) Lewis Pugh
{2) Lynne Cox
(3) Charu Sharma
(4) Bhakli Sharma

perature at A ic Ocean:

This is the ratio of a bank's capital to its risk,
expressed as a percentage of a'bank's risk weighted
credit exposures:

{1) CAR

{2) CRR

(3) SLR

(4) REPO

If ROAD = 152 and MAP = 90, then RAIL =7

(1) 120 (2) 140
(3) 160 (4) 180
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13.

waer & Jag w0 @ Rre Frr 7 } S wis @ o ¥

(1) Cid + Alt + Del
(2) Cid+All+ Tab
(3) Cid + Shift + Del
(4) Cud + Alt + shift

sFaes s @ @m o ' Ee gt

(1) 70 (2) 68

(3) 56 (4) 92

Re & wa@ &7 oy a Rt Jafés swarr 7 1°C
aved gt &7 & R Rxftam

(1) afm g

(2) & o

(3) @&

(4) wiF mmt

75 Jum ¥ B T A g Gk A9 B ¥ @ oiRm
Wit &1 @ 3 stz welfa sk 8, sear §:
(1) CAR

(2) CRR

(3) SLR

{4) REPO

IR ROAD = 152 drnfup-so. @ RAIL= ?

(1) 120 (2) 140
(3) 160 (4) 180

DIRECTIONS: (Question No. 14 & 15) There were six persons U, 2% (& #&1 14 © 15) &: afth U, V, W, X.Y, Z @& o &

V. W, X, Y, Z playing a game of cards. U's father, mother and
uncle were in the group. There were two ladies in the group V'
the mother of ‘U’ gol more points than her husband. ‘X' gol more
points than 'Y" but less than ‘Z' Niece of 'Y" gol lowes! points.
Father of ‘U’ gol more poinis than 'Z" but could nol win the game.

14.

18,

Who is the husband of 'V’ and what was his position in
the game on the basis of points:

(1) Z, llng
(2) Y. Ny
(3) X, g
(4) W, llng

Who won the game & who got the lowest points
respectively:

(1) vau

(2) Uonly

(3) way

4) xav
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16. Mnm”wmmn-m.nw
number of heads is 15 and total number of legs is 46,
Mhoummqldnlndhwmnymmmm?

(1) 8 girls and 7 buffalos
(2) 9 girls and 6 buffalos
(3) 7 girls and 8 buffalos
(4) 6 giris and 9 buffalos

17. If'A T B' means ‘A is the father of B', ‘A @ B' means 'A
lllh.moth'ro'B'.'AlB'mm'khﬂ'ﬂwﬂldﬂ'.
then which of the following means ‘T is the
grandmother of U'?

(1) T@RIy'U
2 T@SIV'y
(3) TRR!S'U
(4) None of these

DIRECTIONS: A logical diagram is drawn following by four
choice groups. Select the choice which fit the logic of the
diagram.

50

(1) Forest, Trees, Plants

(2) Mathematics, Algebra, Geometry
(3) River, House, Boy.

(4) Humans. Mothers. Compulers

DIRECTIONS: Select the choice oul of the given choices which
gives the given words in the correct alphabetical order.

19. Blue, Biuff, Blurt, Blush:

(1) Blun, Blush, Blue, Biufi
(2) Blue, Biuff, Blurl, Blush
(3) Biuft, Blue, Blurt, Blush
(4) Blush, Blue, Biuff, Blurt

DIRECTIONS: Some words have been coded but no specific
code is Use your judgs 1o pick the coded word
which represents the given word the besl

20. TENTANT:

(1) 1421321
() 7581871
(3) 2225552
(4) 1197281

21. Protein deficiency disease is known as:

(1) Kwashiorkar

(2) Cushing's disease
(3) Gaucher's disease
{4) None of the above

16. wm«ywﬂ«ﬁh.“iyawu
«anwuaamuﬁ«mun
(1) 8 wERwd @@ 7 W
(2) 9 w3 @ 6 ¥R
() 7 =R w8 W
(4) 6 F3fFd @ 9 W

17. R'AZR mad B AB = R},
BRA MY, ‘A1E’ wad BAB R o b, FrRfv
TaRmeod R TUR T B:

(1) T@RIy'U
(2 T@STU'y
(3) T@R'S'U
) T ¥ o T

;
-

19. Biue, Biuff, Blurt, Blush:

(1) Blurt, Blush, Blue, Bluff
{2) Blue, Biuff, Blurt, Blush
(3) Bluff, Blue, Blurt, Blush
(4) Blush, Blue, Biufi, Blurt

PR %8 w @ gz W A fran o B AR owe R et
Pite gz Pt TR & o o3 Peln wrr & s

e A @ g dem B T A o A RY R oew @
el oes R st s b

20. TENTANT:

(1) 1421321
(2) 7581871
(3) 22255652
(4) 11987281

21. W& Jreqen I weamn §:
(1) RS
@) m
) ﬁ:in

() g A { B @

22. Yakshagan is the f: d
(1) Odisha
(2) Karkartaka
(3) Assam
(4) Kerala

form of the State of: 22.

23. Which number is on the face opposite to 6 in the dice 23.
whose four views are given below:

POPY

(1 2
2) 4
3 3
(4) None of these

DIRECTIONS: (Question No. 24 & 25) Each of the Questions P2¥: (W& §ea 24 T 25) RA ¢ s et 3 M @& wF
below consists of a question and two slalements numbered | & & | @ Il R mar ki Jme@) @8 Profa & & B & &

e AR T & g6 SR 7 B
(1) s
2) =TS
(3) o™
4) 3™

o 7 d-d "o 6 @ Ruda o b ol g MR RY

QOOD

M 2
(2) 4
3 3
(4) ¥ & o T

and Il given below it You have lo decide whether the data is3 W @ Iat @ fare qata K

provided in the slatements are sufficient to answer the question.
Read both the stalemenls and give answer as. A

A. If the data in the statement | alone are sufficient to
answer the question, while the data in statement Il
alone are not sufficient 1o answer the queslion

B. Il the data n slatement Il alone are sufficent to
answer the question, while the data in statement |
alone are not sulficient to answer the question,

C. If the data eitherin slatement | alone orin statement Il
alone are sufficient to answer question

D. If the data in both statement | and |l even together are
not sufficient to answer the question

E. If the data in both statements together are necessary
fo answer the question.

24. Find the radius (r) of the circle.

I. Areaol the circle is 154 sq.cm

II. Circumlerence of the circle is 2/r times of the area of
the circle.

(M A

@ 8

3 C

4) O

25. What is the population of town after 3 year, if its 25.
present population is 1 lakh?

1. During first year the population increased by 10%

1.  Dunng the second year the population decreased but
again increased by 5% in third year.

(1) A

2 B

@) C

4) D
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DIRECTIONS: (Question No. 26 to 31) The following questions PR™: (WF Hear 26 @ 31) Fr=fafam afvsr @ sma o7 el &
IR M

are to be answered on the basis of the lable given below.

Category of Number of Number of
Personnel staff in 2010 | staff in 2014
Data entry operator 18 25
Data Base coniroller 5 8
Programmers 21 36
System Analysts 15 31
Manager (IT) 3
Supervisor 18 32
2 Total 80 135
26. The number of categories for which the sector angle
has d in 2014 pared to 2010 is:
ma3
2 4
3) 5
4) 6

27. In the pie chart for 2010, what is the sector angle to

represent one person?
(M 3

) 4

(3 5°

(4) 4%°

28. What is the ratio of ber of prog
managers [T in 2014: 2
(1) 12
@ 12
(3) 0.12
4 112

29. Since the total number of staff is different, the

ratio of

the radius of the circle for 2014 to that of circle for

2010 should?

m 2 @ o

80 138
@ J; @ 30

30. For the same ries of y

the sector angle lof-lho year 20'14:
(1) 85°

(2) 8°

(3) 83°

(4) 32°

what s

31. W pie charts were to be drawn for the different
categories of personnel, what would be the angle

ded by the sy ysts for the year
(1) 30° (2) 87%°
(3) 4s°* (4) 80°

2010 7 SHwidl | 2014 ¥ sewal |
A @ & dem 2 dom

T T AT 18 25

T AW FeT 5 8

A 21 36

A 15 3

% (9m8.81.) 3 3

18 32

o 80 135

7.

31.

2010 # qeen A 2014 F AwT B T R Ah A wew
A wh g b

m a3

(2) 4

35

(4) 6

2010 & wif Wi 3, 7% = | il 53 8 R AwT
oy w B

(1) 3°

@ 4

(3) 5°

(4) 4%°

2014 A starr & Hem @ wews oA W oo @

Mm 12
@ 12
(3) 012
@ 112

s witfel @ dun Rt 8, 2014 & A o @ Pewr W
JR 2010 ¥ g R FoW?

135 @ %

™ 135

W
@) Jg

IR N 3 Rrew efRe @ R 2014 7 dwer o "
Bm?

@ o

(1) 85°

@) 8°

(3) 83

4 32°

o At wtfel & aoh 2 R onf o altey o § o ot
2010 3 R Ryvew il @ A

#m?

(1) 30°
(3) 45°

(2) 87%4"°
(4) 80°

35.

7.

Which vitamin is called Alpha-tecopherol:

(1) Vitamin B (2) Vilamin E
(3) Vitamin K (4) Vitarmun A

. A box contains 90 discs which are numbered from 1 to

90. If one disc is drawn at random from the box, the
probability that it bears a perfect square number is:

(1) 1710 2

3) 190 4) 19

. A petrol tank at a filling station has a capacity of 400

litres. The attendant sells 40 litres of petrol from the
tank to one customer and then replenishes it with
kerosene oil. This process is repeated with six
customers. What quantity of pure petrol will the seventh
customer get when he purchases 40 litres of petrol?

(1) 21.25 mres (2) 20 25 ires

(3) 23.25 itres (4) 2425 lres

In a class there are 33 students comprising of boys
and giris. In a monthly test, the average score of the
class was 14. The average score of girls and boys of
the class was 15 and 12 respectively. Assuming that
all the students had taken the test, what is the number
of girts in the class?
m 1

@) 33

() 22
(4) None of these

A jogger running at 9 km per hour alongside a railway
track is 240 metres ahead of the engine of a 120
metres long train running at 45 km per hour in the
same direction. In how much time will the train pass
the jogger?

(1) 70 seconds
(3) 56 seconds

(2) 36 seconds
(4) 18 seconds

A man invested ¥ 14,400 in the hundred rupee shares
of a company at 20% p H the pany
declares 5% dividend at the end of the year, then how

much does he get as dividend?
(1) T700 (2 T750
(3) ¥650 (4) T600

A’s present age is 4 yoars more than B's age after six
yoars. The sum of the present age of A and B together
is 70 years. What is the present age of B?

(1) 36 years (2) 32 years
(3) 30 years (4) 34 years

The ratio between the length and the area of a
rectangular field is 1:30 ively. The of
the fleld is 150 metres. What is the length of that
rectangular fleid?

(1) 45 metres
(3) 15 metres

(2) 30 metres
(4) None of these

32
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40. Find the odd one out from the given alternatives.

(1) ACe (2) FHJ
(3) KLm (4) Suw

DIRECTIONS: In the following questions, a series is given with
One term missing. Choose the correct altemative from the given
Ones that will complete the senes

41, 3,4,7,11,18,29, _7

(1) 36
(3) 47

@ 41
(4) 51

42. What s the number missing from the third target?

5] [9] [os]
16| [29] 7]
[49] [es] 17

(1) 48 (2) 45 (3) 42 (4) 49

43. A man leaves for his office from his house. He walks
towards South. After g a di of 300 i
he tums towards West and walks 200 metres. Then he
walks 100 metres towards North and further 100
metres towards West. He then turns towards North and
walks 200 metres. What is the straight distance in
metres between his Initial and final positions?

(1) 300 metres (2) 200 metres
(3) 250 metres (4) 400 mefres

44. Conceptually, the circuitry of a central processing unit
(CPU) can be subdivided into two major sub-units.
Which one of the following units would perform the
required arithmetic and comparison operations:

(1) ALV (2) Control unit
(3) RAID unit (4) Fuzzy logic unit

45. Any file in which insertion of new records or deletion
of old records occurs at a high rate is referred to as:

(1) A volatile file

(2) A sequential file

(3) A random access file
(4) None of the above

46. MICR stands for:

(1) Magnetic input character reader
(2) Magnetic ink character reader
(3) Medium ink character reader
(4) Medium input characler reader

47. When we consider 15° meridian on a world map or
globe and count them in an eastward direction starting
with Greenwich meridian (0°), we find that the time of
this meridian is:

(1) Same as Greenwich  (2) 1 hour fast
(3) 1 hour slow (4) 12 hour fast

40. R wy Resedl 7 R & querd
(1) ACE (2) FHJ
(3) KLM (4) suw
Pedn. Prerfef s 3 o 2 2 05 @ Riger b R Rl
380 Rem g A @ T
41. 3,4,7,11,18,29, _?
(1) 36 (2) &1
(3) 47 (4 51
42. dat aw A Rge wen w87
(5] [o] [s]
(18] [29] | 7]
[49] [89] [147
(1) 48 (2) 45 (3) 42 (4) 49
43. & @ W R a9t ey @ avs P 8 a5 A @
s g §i 300 Her @ gh oA B ovaw) a® ot @
WS q¥ET 200 T wwm b R aw 100 drex I @
TS @ g7 100 AT oftew & mre wem b g @ gw
B 0T T 200 HieT wwn B awPes Al sk Rafy
T it g B
(1) 300 freY (2) 200 #eT
(3) 250 #rex (4) 400 Y
4. Heemees & R 39 waT o5, (CPU) @ oRow B
A wpE W-ged 7 Io-Ri Rem o wem 81 PreriRe
o8l A A A7 W 0w alfwr iR oo GEERTS SR
stm:
(m ALy (2) P e
(3) RAID 5% (4) wh = o
45, &t wiw PEd T SfRE B s of gt e 8
®A & s o 5T 97 B B, R s 4
u)wﬂmrta:g
(2) @ FPEim
(3) & aghtes wfrm e
ORCGRE &0
46. MICR @ med B

. ow w9 R s 9v 15° At e a8 o R

T T (0°) & gE R @ B IR v o 8, &
LELE & E-F R
mmmMmATRAEY @ 1¢a@

@ 1w dmr 4 n2vam

48. Which one among the foil rivers
1ot Bay ot . lowing does not flow u.:;-miih—lﬂm‘ﬂ'%l*ﬂ

(1) Mahanadi (2) Cauvery

Q) Tapti (4) Godavan ((;,) arh :3; :::ﬁ
49 The most abundant gas emitted from Volcances is: 43, wreryelt & Pt el @R wge A A @ Y o b
(1) Water vapour (2) Helium (1) 7 g (2) ¥ewam
(3) Sulphur Dioxide (4) Carbon Doxide (3) weET EgateeiE (4) w7 anfattenrds
DIRECTIONS: Select the suitable allornative 1o
i satisfy the mwmammamﬁﬂmh
50. (::uL;:mnu-::Kw: 50. & : Reww : ;oW
m (2) Test e
(3) Bum (4) Absort 8; ;T {f,’ e
DIRECTIONS,Scbdmesmmomatmtoumfymo lat in the foli
up in the 9
mhqmamiwmammmMMGW4
' Answer figure (JeT amgRY)

“lor] [adiaTaar]
m @) ()] (4)

DIRECTIONS: In this queshion a piece of ines shown portion
papcvuloldedand"nnnnnmbem The dott;
which have been folded, 'l'howrveanmﬂmlhcdnredmplmm And the b - b

of scissors b the figure show the
mmvmm.lwmwmnmmummd Theopemngi-mvu?:mem-

mm:-iinigm&dmvawl LR R Y
TS AR A R R b R @ A @ o L8 o
W o R 1 A & A e T @ @ e

52. Question figure (w1 amf)
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2 W R Bk Y
| ¥ 2} e @ e o

Answer fioure (T amgh)

o
M

54. Anil, Abhay and Sanjay can complete a plece of work 54, m,mﬂmudiwiww
kN

ln‘ll)d.y-.lzd.pmwday-mpocum,,u|u Rw R 0, 12 ot 13
them started working togather but Anil faft after m“‘;::‘::‘““““m"
working for 2 days and Abhay left 3 days before the ¥ 83 R o oy TR WV QY W q
completion of work. How long did the work lasts? 5 F R R W wd yw?

)
(1) 7 cays @6 @) 6 Ry
) 9days () Nona of tese @ ok @ VA e



81.

62

. Which of the fi

. S.D.R with reference to IMF stands for:

. Recently India pledged to

A horse is tied with a rope of length 7 m at one comer 55.

of a square field having side equal to 10 m. Find the
minimum possible area of the square field that is left
ungrazed:

(1) 655m’
(2) 615m’
(3) 755m’
(4) None of these
CMM level 1 has: 56.
(1) BKPAs (2) 2KPAs
(3) DKPAs (4) 1KPAs
. 'AS’'clause Is used In SQL for: 57.
(1) Sei ion  (2) R

(3) Join operation (4) Projedlon;pemion

g pl the
elements in order from smallest to largest?
(1) Character, file. record, field, database
(2) Character, record, field, file, database
(3) Characler, field, record, file, dalabase
(4) B, byte, character, record, field, file, database

3 ﬁnmmdlndhmurchmdonnh“oﬂhpob: 59.

(1) Dakshin Gangotri
(2) Maitn :

(3) Himadn

(4) Noneof the above

(1) Special Dolior Rights
(2) Special Drawing Rights
(3) Single Drawing Rights
(4) Sunk Drawing Rights

An alloy of steel contains iron and carbon in the ratio  61.
3:4. If 120 kg of iron Iis added to the alloy, then the
same ratio become 5:4. Find the Initial quantity of iron

in the alloy.

(1) 175kg (2) 180 kg

(3) 160kg (4) 185kg

A sum of money at P I Itseif in  62.
15 years. It will become eight times of itself In?

(1) 30 years (2) 45 yeors

(3) 35 years (4) 40 years

P 69 million rupees 6J.
assistance to Nepal. This was for:
(1) Earthquake Assistance

(2) lodine Deficiency Programme
(3) Educational assistance

(4) Cancer research programme

data 58.

(1) 655m
(2) 61.5m?

(3) 755m’

@) T & 2

CMMET 19 8 ¥:

(1) 6KPAs (2) 2KPAs

(3) 0KPAs (4) 1KPAs

SQL A 'As' ¥ & Wi Fr & Rg Rewr s §:
(1) =997 qae (2) W g

(3) e gaeA (4) T8Y TR

Frer 3 @ 39 ot s ol & Prerowr @ Ry w7
e 8?7

(1) FE, 5, Fard, &, s

(2) YA, frad, dites, wigw, sremm

(3) T, 9z, Rard, wge, serm

() Re, awe, wtwe, Rard, dies, onw, sreRw

Il @ T Wl el Rw & T 8
(1) aRyer s

(2)- 2

(3) fRmeh

() ¥ 8

IMF & wed 4 S.O.R w onad §:
(1) Rrdm et e
(2) R smon siftrert
(3) TH TS ST
(4) @A ST T

e 5 o A A My of e oW o 34 Bl
mnzom.thw,m-ammiw
b 2frs A drw @ P aEn v 87

(1) 175 Rem. (2) 180 Rem.

(3) 160 Pem. (4) 185 Rem

T W 9T o e 15 W A W st b

W AN T W R T AR e A @

(1) 30 of (2) 45 ot
(3) 35 ot (4) 40 =t

o oW f  wrw 3 Jom N 69 P IR wewn o
&0 W smeres R o e A an:

(1) 5w

(2) omifEw & &R wdwy

(3) e wETT

(4) B SRR Wi

67.

70.

The recommendation of setting up of MNational
Envi ot Manag Authority and State
Envi g Authority has been
proposed by:
(1) Subramanian Panel
(2) Shunglu Panel
(3) Kelkar Panel
(4) Javedkar Panel
Sushasan Express which was recently flagged off will
run between:
(1) Gwalior and Jabalpur
(2) Gwalior and Jaipur
(3) Jhansi and Lucknow
(4) Gwalior and Gonda
. Two pipes ‘A’ and ‘B’ can fill a tank in 15 minutes and
20 minutes respectively. Both the pipes are opened
together but after 4 minutes, pipe 'A" is tumed off.
What is the total time required to fill the tank?
(1) 12 minutes 40 sec
(2) 11 minutes 35 sec
(3) 14 minutes 40 sec.
(4) 13 minutes 35 sec
In a game of cards, A and B together had four times as
much money as 'R’, while R and B together had three
times as much as A. What fraction of the total money
did R have in the game?
(1 w7 (2) /5
(3) 1”12 (4) 29
The area of two circular fields are in the ratio 16:49. If
the radius of the latter is 14 m, then what is the radius
of the former?
(1 10m (2) 8m
(3) 12m 4) 9m
A “CD" player having a price tag of ¥ 900 is soid for ¥
729 after two successive discounts. If the first discount
was 10%, then what was the second discount?
1) 12%
@) 8%
(3) 10%
(4) 6%
Find the missing number.
(1) 512 @) 125
(3) 258 (4) 315

65.

67.

i3 @A A A@B

q B R B Rt A S

FJURD
-3

@ @ W 9w BET R # g W A ar?

(1) 17
(3) 112

(@ 15
“4) 29

1

(M 512
(3) 256

@ 125
(4) 315



71. National Optic Fibre Network is the largest rural
connectivity project in the World. First state of India to

all its di gram panchayats through this:
(1) Gujaral (2) Kerala
(3) Kamataka . (4) Tamilnadu

72. Which one of the following is the query language for
the INGRES DBMS?
(1) Quel
(3) saL

(2) QBE
(4) All of the above

73. Which of the following circuit is used as a "Memory
device' in computers?

(1) Rectifier
(3) Comparator

(2) Fhp-Flop
(4) Attenuator

74. What do you press Lo enter the current date in a cell?

(1) CTRL +; (semicolon)

(2) CTRL + SHIFT + :(colon)
(3) CTRL+F10

(4) CTRL+F11

DIRECTIONS: (Question No. 75 to 79) Study the following
information correctly and answer the question given below

Total population of a village is 5000. The ratio of males 1o
females is 3:2. Among the;male population theratio of adults 1o
children is 1:2. Among the female population, the ratio of adults
to children is 1:1. Among the male adults 80% are educated
where as among the female adults 60% are educated. 60% of
the female adult population is married and 20% of them are
married outside the village.

75. Find the ratio of adult males to adult females?

(1 11 () 1:2
3 23 4) 32
76. What px of adults population is uned: d?
(1) 20% (2) 25%
(3) 30% (4) 40%

77. If 1000 adult males are married, find the number of
adults females who are not married In the same
village:
(1) 120
(3) 300

(2) 240
(4) None of these

78. If there are 2700 children enrolied In school, what
percent of children are not enrolled in school?

(1) 5% (2) 10%
(3) 15% (4) 20%
79. How many adults are uneducated In the village in all:
(1) 1400 (2) 600
(3) 500 (4) 1000

71, v s saT Fewd R 3 apitvr wws aRaeET &
T T Ao ¥ W W wow 7w R o v Rl

B Wl T R B e @ o
(1) T 2 3@
(3) FARH (4) afg
72. Freffer 3 { #7-M INGRES DBMS 3 RYC Jear wmw 87
(1) Quel (2) QBE
(3) saL (4) g ot

73. T A il e’ @ w0 A B T @ SR o W
warr Ren amer 87
(1) Presrdt (2) Rew-vem
(3) g (4) wger
74. RRY AW A I B o o 50 B R I W wm B
(1) CTRL +; (semicolon)
(2) CTRL + SHIFT + :(colon)
(3\CTRL + F10
(4) 'GTRL + F11
Pe: (vw wom 75 @ 79) Prfoftm gEnoll & wh @ @ o
R m o @ o g
T T B @ FEen 5000 B g6 R/ ARl W AT 3:2
&1 g5u; w1 @ @-w= @) o124 after e
s § e W o 11 b g5y w3 80% At § oW
& afte @ # 60% Riftra K1 60% = wfver wFmem Reafdar
X @ 20% st A owd) g B e gt N

75. =T [5% A Jew WK W SO wwd?

(1 11 2 1:2
(3) 23 (4) 3:2

76. TSN & FW AR s wes i 87
(1) 20% (2 25%
(3 0% (4) 40%

77. AR 1000 s Tov Rearftar §, @ o aves wfveell & den
o o 3 ot A Rfd T B

(1) 120 (2) 240
(3 300 (4) ¥ & &

78. R W A FW 2700 woA oolvg U, of e R v
ol Tl K7

(1) 5% (2) 10%

(3) 15% (4) 20%
79. a7 W R =es arfwfnr §:

(1) 1400 (2) 600

(3) 500 (4) 1000

80. As per Reserve Bank of India KYC norms, full KYC 80. R ¥% aifs {4 3 KyC Prasl @ argar oof KYC sl

exercise is to be done at least every ...... ... yoars for
low risk category of customers:
(M 10 @ 2
(3) 8 “ 5

DIRECTIONS:. In a classroom, there are 5 rows, and 5 children
A, B. C D and E are sealed one behind the other in 5 separate
rows as follows.

B2

83.

A s sitting behind C, but in front of B. C is sitting
behind E. D is sitting in front of E. The order in which
they are sitting from the first row to the last is.

(1) DCEAB (2) DECBA
(3) DECAB (4) DCEBA

India has exported Its first warship named “CGS
Barracuda” to which of the following countries?

(1) Malidives (2) Bhutan
(3) Nepal (4) Mauntius

lain Hume was recently awarded the G&n Bal
Award for the best player of Indian super League . He
was related to which of the following teams at the time
of winning:

(1) Atletico De Kolkala

(2) Kerala Blasters FC

(3) Defm Dynamos FC

(4) Mumbai City FC

Beji Caid Essebsi was recently swom in as the
President of which of the following countries:

(1) Belgium
(3) Fiji

(2) Tunisia
(4) Sudan

John O'Keefe, May- Britt Moser and Edward Moser
won the Nobel Prize 2014 in the field of:

(1) Chemistry (2) Physiology or Medicine
(3) Physics (4) Economic Saiences

Match List-l (temple/Heritage site) with List-Il (State)
and select the correct answers using the codes given
below:

List List!
1. Brihadeshwara Temple A. Orissa
2. Dilwara Temple B. Tamil Nadu
3. Lingraja Temple C. Karnataka
4. Hampi Group of M i D j

E. Kerala

(1) A1,C2,E3.D4
(3) B1,C2,A3,D4

(2) B1.D2 A3.C4
(4) A1, D2,E3C4
te macros in MS Excel

(2) Visual Basic
(4) C++

— language Is used to
(1) VisualCe»
(3) Java

A TS ... o ¥ w1 afem af IR el 3
R Rear e B:

(1) 10 (2 2
3) 8 4 5

fin s w1 d, ssm 3 dsT@ABCODWEERR
@t @B s e e AR K

81.

82.

AcidmtmdoegedamAliccEsMbl
D.E 3 5 Y1 B wow = @ wfkm 0w & Rew e A
2

(1) DCEAB
(3) DECAB

(2) DECBA
(4) DCEBA

wrm A I s ® A S CGS WRGEIT ATTS WOW
e fsw 2w & Prafe Rear?

@ A
(4) arfrew

o &g & aft v @ T R gue @ @ witde e
2 w9 7 s Ofw e A 7PN TN A8 AR B W W
a am a:

s, A-fre At @ @ e 3 e e
2014 f5w &= 7 rem:

(2) =i Rwe o shwfy
(4) it Ram

1 (/T vm) B -1 () @ g ot

M R W AN & SR R AR I
- g-u
1. R AT A. I
2. R afxt B. afwemy
3. R st C. maeE
4 TREERAFEE D TOREA
E W

(1) A1,C2.E3.D4
(3) B1,C2,A3.D4

(2) B1,D2, A3, Ca
(4) A1, D2.E3C4

MS Excel T Aot S s 3 A ... ww sy §:
(1) Visual C++ (2) Visual Basic
(3) Java (4) Cos



88. In a survey, it was found that 55% go for jogging, 50% B88.
do yoga, 42% do aerobics, 28% do jogging and yoga,
20% do yoga snd merobics, 12% go for jogging and

aerobics and 10% do all three. If each one of them go
for atieast one of these, then what percentage do
exactly one exercise?
(1) 40% (2) 49%
(3) 57% (4) 59%

89. A half byte is known as: 8s.
(1) Nibble (2) Data
(3) Bit (4) None of these

90. The arranging of data in a logical sequence is called: 90,
(1) Classitying (2) Summarnizing
(3) Reproducing (4) Sorting

91. In a certain code language, the word ‘NUMERICAL' is  91.
written as ‘'LMUIREACN'. How will the word
‘PUBLISHED’ be written in that language?

(1) DBUSLIHEP (2) DBUSILEHP
(3) DUBSLIEHP (4) DUBILSEHP

92. In the constitution of India, p tion of K | 92
peace and security is included in the:
(1) P le of the cor
(2) Directive principles of state palicy
(3) Fundamental duties
(4) Ninth Schedule

w A g5 g T, R 55% APt @ Rl o B, s0% dm
s B, 42% TN s B, 28% Afftr o @ sTd B
20% @m @ s & B, 12% dft o qifes o
WA A RTINS A B
R omm 8, & F-w wRm wds o A s 8?7
(1) 40% (2) 49%

(3) 57% (4) 59%

% Az B aFn aw b

(1) Prew @)

@) Re ) A

mis e 7 oifed w1 Rare s B

(1) TitwT (2) o

(3) farggfem (4) wfén

Piftan ®'% w1 § w ‘NUMERICAL’ % ‘LMUIREACN'
fvar amm B &t 3 oWt ww wwr 7 ‘PUBLISHED’ & w1

Rvan amdm?

(1) DBUSLIHEP
(3) DUBSLIEHP

s dRa 7 snige win o gon @ s 3

Rewd wisfor fsar ma B:
(1) ®Rwm 2 s A

(2) DBUSILEHP
(4) DUBILSEHP

(2) = & ifx Frdes Rrer 4

(3) iy w3
() A g A

DIRECTIONS: The pie chant, gven here, represents the number PR P no ot oré 3 q Rl aro s w5l & s
of valid voles oblained by four students who conlested election Zafdi R R PR FE d T M TR s M M @ Mu
for school leadership The tolal number of valid votes polled was 7l & s 720 & O &1 o &1 @ {§ TC MUl SF
720. Observe the charl and answer Ihe question based on it o I 2

ar

93. By how many votes did the winner defeat his nearest 93.

rival?
1 35 (2) 45
(3) 40 (4) 50
94. Which one of the following European countries 94.
borders Atlantic ocean?
(1) Portugal (2) Austria
(3) Finland (4) Romania
95. The first to climb in E peak waa: 95,

(1) Marie Jose Perec (2) Florence Gnffth Joyner
(3) Junko Tabei (4) Jackie Joyner Kersae

a2

fdin 3 o P st & R ol @ wow?

(1 35
(3) 40

(2) 45
4) s0

Praffm 7 & S-w q0dw tn aewPes wwar B

aqw b

(1) g
(3) RV

(2) nfzar
(4) TP

e o Rret o ol waw after o

(1) ¥h 3w e
3 w0

(2) wrtw deq AP
4 3 AT s

GENERAL ENGLISH

Change the following direct speech into correct reported speech and mark — -
He said, “Shyam has not turned up yot"

(0)] He said thal Shyam had not tumed up yet 2
He
(3) He said that Shyam was not lumed up yet :‘; 32id that Shyam has not tumed up yet

He 3aid that Shyam had not tumed up then
97. identify the adverb in the following sentence.
He spoke well at the meeting last night:
(1) Well ;
2) Meeti
(3) Last Night :4; Al ol;?uc
98. POLYGLOT— is someone who

(1) has more than one spouse
(3) plays more than one sport

(2) drinks 100 much
(4) Speaks many languages
DIRECTIONS:. In the following senlence a word or phrase

oror lies Ismwwow.ﬁu-mammmm
99. Ram and Shyam help one anoth '-"1"'! of need
1 2 3 _‘
m 1
2
(3 3 g; 4

DIRECTIONS: In the following sentence a portion has been » !
. underiined There are four chy hy ion including
ongmd.Solecnhebes!usagevemontromabcd “ e "

100.ummahawmwhag.homldemethM:

(1) Had Ram worked harder (2). ¥ Ram had worked hard

(3) Had Ram worked hardly (4) M Ram would have worked hard
DIRECTIONS: The folk g id is folk ‘byﬂmmwmhg:dmmuwnd.cwmmw.
101. Hobson's choice:
(1) Excellent choice (2) Accept or leave the offer
(3) Feeling of fear (4) Feeling of joy
DIRECTIONS: In the following question select the most appropriate meaning for the given word
102. VINDICATE :
(1) Elaborate (2) Argue
(3) Justify (4) Define
DIRECTIONS: In the following question, a word is followed by four chok Select the choice that is nearly most opposite in
meaning to the given word.
103. TRANSIENT
(1) Materialistic
(2) Permanent
(3) Steady
(4) Worthless

DIRECTIONS In the following sentence a word or phrase is underfined and given a number. Pick a choice of number where the
error lies,

104, " MY tsacher will advise | will join the part time course
1 2 4 3 4
m @) 2
3 3 4) 4



DIRECTIONS: Select the word that gives lhe meaning of the sentence / phrase.
105. A man who hates women:
(1) Misogymist (2) Mi
1
(3) Misanthrope (‘; CV::.M
106. Combine each of the following sentence by using an Adverb Clause.
He was quite tired. He could scarcely stand,
(1) He was tired and he could not sland.

(2) He could scai sland because i
(3) Being tired he could scarcely stand oy he was quite tired.

(4) On account of being tired he could scarcely stand.
107. In the following question, identify the sentence with subordinating conjunction:
(1) She must weep, or she will die

(2) Etther she ad, or she
(3) | was annoyed, still | kept quiet P e

(4) 1'would die before | lied

DIRECTIONS: In the following question a sente,
completes the given sentence in a grammatically

108. The train is due ....... 1:15p.m

nce with a blank space is given. vanlrugmnopﬁom.ldeaHlemM
correct way.

(1) For 2) At
(3) On 4) In
DIRECTIONS: in the following four alt

are given for the idiom marked in bold. Choose the allernative which best
expresses (he meaning of the idiom from the options given

109, ﬂnquhpwbmnmhwbhnbbodlnnmrhnlw.
(1) Bad blood

(2) Enmity
(3) Aristocracy (4) Diseases
DIRECTIONS: Choose the comect passive voice of the ‘gven in the q

110. Ought we to make any false claims?

(1) Any false claims ought to be made by us
(2) Ought any lalse claims to be made by us?
(3) Should any false claims o be made by us?
(4) Could any lalse claims to be made by us?

DIRECTIONS: In this question, out of four alternalives choose the one which can be substituled for the given words/sentence.
111. One who is indifferent to pleasure or pain:
(1) Stoic (2) Stylist
(3) Cynic (4) Psychic
DIRECTIONS: In this question, out of four alternatives choose the one which can be substituted for the given words/sentence.
112, One who studies election trends by means of opinion polls:
(1) Entomologists (2) Psephologist
{3) Demogogue (4) Eugenist
DIRECTIONS: In the following question, a word has been written in four different ways. Only one Is comectly spelt. Mark the comect
altemalive
13
(1) Rigorous (2) Riguorous
(3) Rigerous (4) Rigerouss
r the
DIRECTIONS: In this question, each of the sentences has a blank space and four words are given afier the sentence Choose
word from the allernatives (1), (2). (3) and (4) that you consider most approgpriale for the blank space.
114. India and P are geographically i

(1) Contagious (@) Contiguous
(3; Continuous (4) Contentious

115, Identify the part of speech of the underii d words in the given sentences:
Everybody looked delighted when the comely bride appeared on stage:
(1) Adverd
(2) Adjective
(3) Noun
(4) Verb

DIRECTIONS: In the following queslion arrange the given sentence
chaice (1). (2), (3). (4)

116. Jumbled P

Which cannot be tacklod
Female literacy rate

The emp: ent of en
Without raising the

Inindia is a vital Issue

(1) NQMPO

(2) OQPMN

(3) OQMPN

(4) QPONM

s/phrases in a coherent sequence and select the corresponding

ovozz

DIRECTIONS: (Question No. 117 to 120) Read the folk ing 9 fully and the questions given below it.

As Distnct Employment Officer, my father was given a jeep by the government There was no garage in the office, so the jeep
was parked in our house My father refused 10 use it 1o commule lo the office. He loid us thal the jeep is an expensive resource
given by the government-he repeated to us thal it was not ‘his jeep’ bul the government's jeep Insisting Ihat he would use it only to
tour the intenors, he would walk on normal days He also made sure thal we never sal in the govemmenl jeep-we could sit in it only

when il was stationary. Thal was our early chil d lesson in g ce-a lesson thal corporale managers leam the hard way,
some never do

T'nedmerotmojeepwasueamdwﬂhmmmmnnyolrmmmolmlwsom. We had lo use Ihe suffix ‘dada’
whenever we were 10 refer to him in public or private. When IgrewuploomncumdadmerbymendequmW.
| repeated the lessen to my two small daughters. They have. as a result. grown up calling him ‘Raju Uncle’-very different from many
of their friends who refer to their dnver as ‘my daver’ | cnnge To me, the lesson was significant-you Ireat small people with more
respect than you treal big people . It is mare important to respect your subordinates than your supenors

117. What important lesson did the writer learn from his father?
(1) One should maintain a discreet distance from small people
(2) One should treat small peopie with more respect than one treats big people

(3) One should always be kind to one’s subordinales
(4) Itis not prudent to be two familiar with one's servants

118. The driver of the jeep was treated with respect because:
(1) He was an elderly person
(2) He was short lempered person

(3) The wnter's father believed that small people should be d with
(4) The dnver was a brahmin

P

11!.wmlvaluabhIouondidﬁwwdhhhﬂmmhh:mmnby“hgbmhmmmm
business?
(1) The jeep should be used carefully and sparingly
(2) Use of vehicles is agains! the principle of simplicity

(3) He taught his children the d d 1 public property and privale property
(4) Travelling in a jeep is nol without is risks

120. The writer's father refused to use the official jeep to commute to the office because:
(1) The jeep had a chronic engine problem

(2) The jeep was an expensive resource and was given to him 10 tour the interiors
(3) He didn't wanl to show off

(4) He enjoyed walking 10 his office



